Tableaux des Puissances de Dix (I)

Multipliez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (I) Solutions

Multipliez le nombre de la rangée par celui de la colonne.

X 100 1000 10 000 10
10 1000 10 000 100 000 100
74 7 400 74 000 740 000 740
62 6 200 62 000 620 000 620
29 2900 29 000 290 000 290
67 6700 67 000 670 000 670
X 100 10 10 000 1000
76 7 600 760 760 000 76 000
87 8700 870 870 000 87 000
12 1200 120 120 000 12 000
57 5700 570 570000 57 000
9 900 90 90 000 9000
X 1000 100 10 000 10
63 63 000 6 300 630 000 630
1 1000 100 10 000 10
26 26 000 2600 260 000 260
98 98 000 9800 980 000 980
47 47 000 4700 470 000 470
X 10 000 1000 100 10
89 890 000 89 000 8900 890
93 930 000 93 000 9300 930
65 650 000 65 000 6 500 650
74 740 000 74 000 7400 740
2 20 000 2000 200 20
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